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The idiom ‘At stake’ means —

A. Atrisk

B. At the happiest moment

C. In dilemma

D. Creating doubt

g (B@: A): ‘At stake’ phrase @d
3fars | @sm- About 4000 jobs are at stake
if the company closes down. =zl fag
w79 phrase and idiom frsze-

Phrase and idiom Meaning
Bring to pass Cause to happen
Prior to Before
White elephant Costly possession
Out and out Thoroughly
After one’s own heart | To one’s own liking

A hundred-years-old man is called -
A. Centurion B. Centenarian
C. Silver Man D. Golden Man
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28.

[y (Ted: B): *o9d IWF WS D
Centenarian. =1l &g «#g9 phrase and

wial fag wwgsd Appropriate preposition
fevere-

idiom frael- Appropriate preposition i
— - Insist on (SRl
Phrase and idiom Meaning R — CEA 4
Head in the clouds | A day dreamer Jump into 1% Wl
Swan song Last work Loyal to TEE
Dilly dally Waste time Mindful of AT
Bill of fare A list of dishes NIGuRiTGE | e
A bull market Rising 29. Choose the appropriate prepositon to
. - complete the sentence ‘Unfortunately’
Blue chips Safely investment we had to cancel it owing ........... the bad
A kind of living A man of good we?ther.
cabiiee Sl P . Gold A.in B. for
statue: Silver man reeding : Golden C. of B
mat T (TSA: D): Owing €9 T4 preposition

Which of the following preposition
completes the sentence ‘Although ballet
and modern dance are both concerned
«ee..... the movement in space, training
for ballet is more rigorous than that for
modern dance?

A. with B. to

C.in D. of

R (B C): @Al foga & Sraol a1 s
Z=ts Concern €3 ¥ preposition R
for/ with/ in/ about 373 |

Prepositi | Bangla Example
on meaning

Concerned | ¥ %2 | The criminal is

in sty @fes | concerned in the
KIS crime.

Concerned | @37 f¥@@ | Today’s lession is

with s 7= FS | concerned with

narration.

Concerned | a1 % | I'm a bit concerned

about/for | ¥=E Tfax | about/for your
EX<| health.

30.

1A to 1 @3 Owing to ¢ TR | -
She walks with a limp owing to a

childhood injury. @@ fag  ewFgsd
appropriate preposition fEge-

Appropriate preposition i
Penalty for EiEnic)

Relieve of Toes 41
Obliged to BIES

Solution to AN
Proficiency in |

Which of the following word is plural?

A. Anybody B. Nobody
C. Each D. Someone
[ (TeR SopTE  @AIE plural

pronoun 1) : @& Pronoun Re<¥ &F 3fe
a1 g A I s e afe @ e @

wmatE  indefinite pronoun IE | fg
singular indefinite pronoun ¢ TwizA9
[SEE B

anybody | anyone | anything | each
everybody | everyone | everything | neither
cither every nothing something
No one nobody | somebody | someone
f#g plural pronoun 93 Twrzad fassel-

IMany Ifew |severa1 |others |both |
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31.

32.

33.

Identify the singular form of the word
ALAMNI from the following options?
A. Alumni B. Alumnus_

C. Alumanae D. None of these

Tt (Bew: B): fag e@esd noun @3
singular @32 plural form fszel-

Singular | Plural | Singular Plural
noun noun noun noun
alumnus | alumni | larva larvae
locus loci curriculum | curricula
alga algac | ovum ova
criterion | criteria | phenomenon | phenomena
basis bases | bacterium bacteria
Complete the sentence ‘Had I known in
advance, I .......... enough preparation’

choosing from the given options?
A. would take B. would have taken

34. Idendify the substitute word for the

sentence ‘The art of cutting trees and
bushes into ornamental shapes’-

A. Horticulture ~ B. Bonsai
C. Pruning D. Topiary
n (Bea: D):
Horticul | The art or practice of garden

ture cultivation and management.
(Bt

The art of  growing
Bonsai | ornamental, artificially
(ar=eirg) | dwarfed varieties of trees and

shrubs in pots.

Trim (a tree, shrub, or bush)
Pruning | by cutting away dead or

(@5 | overgrown branches or stems,

C. took D. will take e #4) | especially  to  encourage
1t (Tea: B): growth.

bkl Topiary | The art or practice of clipping
3" Condition @7 faas @@t had+V, @i (Twie@ | shrubs  or  trees  into
a8 Ww* would+ have+ Vi A | 7% ornamental shapes.

1o ¥512)

If/had+sub+past 35. Pick appropriate word from the
perfect........+sub+would/could/might+ha following to complete the sentence ‘The
vetverb in simple participle spellings of many old English words

Twrzact

Had I known in advance, I would have
taken enough preparation.

Which of the following words substitute
the sentence ‘A remedy for all

diseases’?
A. Drug B. Panacea_
C. Antiseptic D. Cure

Tt (B@a: B): Drug @i @%4, panacea &4
W@E (@ 894, Antiseptic 99 #bARE,
Cure 99 oz, remedy w9 afesm| A
remedy for all diseases @1 FameE @3 fag
q R weE SEel fEanm oed | Jear ud
AR e B A1 A |

have been in the living language,

although their pronunciations have
changed’?

A. shortened B. improved

C. preserved D. revised

A (®ea: C): Shortened wd  efirg,
improved w4 T®, preserved wd eafwe,
revised 94 %7+ @41 | ABTE although
QR O A Yo W Wiy faodredd wd
oF™ FACE | WAl @ifF =% pronunciation
+fqafée zrare fF@ aam@ spellings wefrafée
WITE A AAF T TAE | O3 G WP A
Tga = e C.
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36.

37.

38.

Choose the correct replacement of the
underlined portion of the sentence ‘It is
not for your to take responsibility, it is
rather, me who is the guilty person in
this matter’.

A. me who is B. me who am

1w (Tea: C) :

Like/likely+to+v,
Like/ Likely @3 #€ to+v, & |
Example: It is likely to solve the problem.

Don’t like/ Dislike+ V+ing
Don’t like/ Dislike @ #@ verb @9 72 ing 2 |

C.I'whois D. I who am Example: I don’t like discussing politics.
a4t (Bea: D): Be verb @@ *@ wewm 39. ‘I sat down’, and ‘Tears ran down her
A . face’. The word ‘down’ is used in these
pronoun €3 subjective form W @A
. sentences as —
relative pronoun & #d verb 4ETS O A. Verb-adverb  B. Adverb-preposition
4@ antecedent  (noun/pronoun) @ C. Adverb-verb  D. Preposition-adverb
number ¢ person SPATA T | HOAR ATHE A (Bea: B): I sat down 6t down
5% Toa zrE wom D, =%f5 adverb & Fage T | IRY @b
Identify the correct replacement of the verb sat @ modify ¥R | Tears ran down
underlined portion of the sentence her face Tfre down *fs Pr?posmon
‘Most of the students like to read these fees areze zoawe | w6 her face T
kind of detective stories for their noun/pronoun % +r¥ IR | 42 AT BT
supplementary reading’. MR B R s ﬁms W_m ' .
X ‘these Jind of deteciivestories 40. Choose the word in which the suffix is
B. these kind of detective story Haed correctly.
SN o : : A. Digital B. Comforted
C. thl.s k{nd of fietectlYe story C. Nonstop D. All of these
D. this kinds of detective story aman (Be: A): Sufix 2@ 3 Faew 9Ff
1 (Tes: C): W T A (4T AT TS # B0 | g
Singular+kind Plural+kinds Suffix % =& faea @ z=-
of+singular of+plural Suffix Word Suffix Word
This kind of | These kinds of Ful Beautiful Ant Important
detective story. detective stories. Al Digital Able Capable
This kind of pens. These kinds of pens. Ly Slowly Ive | Attentive
S A 7S these 2@ @@ @ kinds A= Less | Harmless | Ness | Greatness
41. Which of the following is the analogy of
AR SO L B e.aar? I e ANTIDOTE: POISOI\%? =
R A Story SR stories B W C A. Cure : Recovery  B. Narcotic : Sleep
¢® this @3 =13 kind 2R I % | wopT D C. Stimulant : Relapse D. Tonic : Lethargy
7S this @3 2@ kinds ¥4<F® G w&m 77 | iy (Beq: D): Antidote =€ efferags,
This @3 #7a kind 217 3510 w% 20 | Poison w4 @@, Cure 4 =tam7, Recovery
Which of the followign sentence is @ 3f&=TrS, Narcotic ¢ eamr®, Sleep =4

correct?

A. I don’t like to discuss about politics.
B. I don’t like to discuss politics.

C. I don’t like discussing politics.

D. I don’t discussing in politics.

g9, Stimulant 94 Twi%@, Relapse @4
sm:vfes zenm, Tonic @4 =fewms eg«,
Lethargy 94 w91/Ars8e |

9% : Antidote %@ @9 Poison ¥a 4l 2,
cefa Tonic %41 Lethargy 3 341 23 |
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42.

43.

44.

Which of the following
ARTICULATE: SPEECH?
A. Coordinated : Movement
B. Predictable : Event

C. Dangerous : Disease

D. Active : thought

A (Bea: A): Articulate w19 =0@ea
Twrad @4, Speech ¢ ael, Coordinated
wq sfrs, Movement @¢ Fwam G/
otwEe, Predictable 914 sz, Event
w¢ 9541, Dangerous &4 faswea, Disease
wq ciol, Active 94 5@, thought 4 foe |
s=oF : Articulate @ Speech @3 el
s=if&e, Coordinate T3 Movement @3
i 7S |

Which of the following is the antonym
of the word DISPARATE?

A. Homogeneous B. Cumulative

C. Invariable D. Cooperative

resembles

T (Tea: A):

ke Gl s Synonyms
Disparate S Dissimilar
Homogeneous | FfIgs Uniform
Cumulative CREIELT Accretive
Invariable woifqaeTn | Fixed
Cooperative | 3™ Pooled
yeaik  Disparate *%a fao@re =% zre
Homogeneous.

Select the term that contrasts
FREQUENCY -

A. Unity B. Rarity._

C. Gradualness  D. Persistency

gt (Bea: B):

T % wd Synonyms
Frequency A | Commonness
Unity aFe! Solidarity
Rarity faeel | Scarcity
Grandualness | @@l | Steadiness
Persistency | 94531 | Tenacity

&k Frequency =@ fa7idte == zza Rarity.

45.

46.

47.

48.

The term MICROSCOPIC is same as —
A. Excessive B. Woe

C. Minute D. Irrelevant
Fyran (Tea: C):

kSl wd Synonyms
Microscopic | ¥4 Minute, atomic
Excessive | 9%if4& | Exorbitant, lavish
Woe L&) Affliction
Irrelevant S f#E | Extraneous
Which of the following word is
equivalent to EQUIVOCAL?

A. Obstacle B. Indolent
C. Illusory D. Ambiguous
e (Bea: D):

T = ¢ Synonyms
Equivocal | @wds Ambiguous
Obstacle RISL Cramp
Indolent SEH Slothful
Ilusory A Delusive
Pick the right passive form of the

sentence ‘We must endure what we
cannot cure form the following.

A. What we cure must be endured

B. What cannot be cured must be endured
C. What cannot cured must endured

D. What could be cure must be endured
71t (T3 B): Complex sentence 93 voice
“fd@$t principal @ sub-ordinate Te% @@
clause @72 #fa@$q @ars =1 What we can
not cure 99 passive form ZrBz what cannot
be cured €32 we must endure 93 passive
form Z must be endured. FeaR A
passive form Z%z- What cannot be cured
must be endured.

Choose the indirect speech of — Hasan
said, ‘Let me have some rice’.

A. Hasan said that he wanted some rice

B. Hasan wished that he might have some rice
C. Hasan prayed that he might have some rice
D. Hasan suggested to have some rice
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49.

50.

51.

71t (@ B):

Let @@ imperative sentence &F ¥ 932 9
TRl &¥[@ @RAEA say @3 “fATE propose @l
suggest 28, comma ®3 that a4, let T
subject @@ #@ should a1 A assertive
AT |

Direct : He said to me, ‘Let us go home
together.’

Indirect : He proposed to me that we
should go home together.

Let w1 2@ w1l [@RTA let @3 #faaté might
4l might be allowed to 4t |

Direct : Hasan said, ‘Let me have some
rice’

Indirect : Hasan wished that he might have
some rice

Which one of the following spelling is
correct?

A. Fascinating B. Fasinating

C. Facinating D. Facsinating

A (Bea: A): AE AWEEE W mE
Fascinating /@ od wradfs | s fog e
AYE % -

Neighborhood | Inhabitants | Sanction

Peculiar Parallelism | Fraternity

Identify the word with correct spelling
from the following options.

A. Counterfet B. Counterfit

C. Counterfiet D. Counterfeit

gt (Bea: D). e ammgE = e
Counterfeit T @4 @@ | s fag #fw

52.

A. 2 meter B. 4 meter
C. 6 meter D. 8 meter
A (Tea: B):

Here, area of carpet = 25-9= 16 sq.
meter
Length of one side of the carpet= \/1_6
=4 meter
A person’s present age is two-fifth of
the age of his mother. After 8 years, he
will be one-half of the age of his mother.

What is the present age of the mother?
AW . GG TG AT OF T[S TEE A6

A G2 WA AN | b IR OICA, O A
WIS IR WA XA | OA O[T a7
797

A. 30 B. 35

C. 40 D. 50

7 (B@a: C): Let, mother’s age = 5x

.. person’s age = 2x

ATQ, (5x+8)=2(2x+8)

Or,5x+8=4x+ 16

Sox=8

.. Mother’s present age = 5 x 8§ =40

. If x/y = 1/3, then the value of (x* + y?)/(x*

-y)is-

wq@m o x/ly = 1/3 &3 (x2 + y)I(x* - yP) @7
W FS?

A.-10/9 B. 5/4

C.-5/4 D.-5/3

g (Bea: C): Here, x =1 and y = 3

TS % 2T
Bilateral Coalition Tariff xX*+y> 1+9 10
Possession | Hierarchy Recognize x*-y*  1-9

General Math

A square room has a square carpet
symmetrically placed in it. This leaves
an uncovered area of 9 meter?. The area
of the whole room is 25 meter’. What is
the length of the one side of the carpet?
A @ AR wwa g 93 3R
o afegivm w41 2 | are » 2+ fIbR wwge
Qe | e wafba e e 3of fbE | e
FoATha 9 faraa i Fe?

54.

5
S
Ifa:b=4:7andb:¢c=5:6thana:b
re=7?
Y@M :a:b=4:79Rb:c=5:6%Aa:
b : ¢ 93 TF FS?
A. 8:15:12 B. 20:35:42
C. 20:35:24 D. None
A (Bea: B): Here,
a:b=4:7=(4x5):(7x5)=20:35
b:c=5:6=(5x7):(6x7)=35:42
soa:b:c=20:35:42
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56.

A passenger paid 50% customs duty on
accompanied baggage items. He paid
another 20% sales tax on the total value
of the items plus the custom duty paid.
The total custom duty and sales tax is
Tk. 350. What is the value of the item
before custom duty and sales tax?

AW ;. 9FEH T@ SR W AR AW G
¢o% Fow fEEfb emm w2l | T WRGT W3R
o feBfba Bom o Wit k0% fAaw 79 gwie
Fare! | Frow el vk e 7 farme wid
oo B eWIN e | ORrE FoE fef @3z

fa@a w2 7t IR 77 Fer
A. Tk. 400 B. Tk. 450
C. Tk. 500 D. None of these

[Tt (B=7: D):

Let, value of the baggage item 100x
Custom duty = 100xx50%= 50x

Sales tax = (100x+50x) x20%= 30x
Sales tax & Custom duty= 50x+30x= 80x

ATQ,
80x= 350
_350
= X= 20
350x100
= 100x= ~ 0 - 437.5

G ;@B Wl S AR sem e e
@Al (@Al I3 TS oo BIFIS (A
TR | fog W e @ SEIRG @ I
T AR GEMA Ted fema 8wa.e RMA!
TR | AR FR4E T (3 STRIARGA 1R
@31 T : https://www.numerade.com/
(10)? is how many times of (0.01)*?
AWM : (50)Y G T (0.0))° (ATF F© & 6?2
A. 10° B.10° C. 107 D. 10%
gt (Bea: D):

102 10?
0.01° ~ 0.01x0.01x0.01
_ 10°x100x100x100
B Ix1Ix1
=10% x10% x10% x10* = 10*%"2"2= 10%

57.

58.

An amount of money is invested in a
savings account for two years. It
increases by Tk. 52.50 in two years,
after annual compounding at the rate of
10% per year. What is the amount
invested initially?
wRm @< W2 sfame o aafb Jwedt e
vR qwEd aw fafarae w9 @@ so% v
g @ft % IWE ex.eo BRI WA IH (o |
w1z ey R sfame oo feme
A. Tk. 400 B. Tk. 300
C. TK. 250 D. TK. 200
I (Tea: C):
Compound interest = {p(1+r)"}—p

10 .,

={100 (14751100 [+a. 51 (p) 100 5]

11
= {100 x (E) 21100 = 121-100 =21 tk

If interest is 21 then principal 100 tk
100
21

o o JOOXS2S ...
52:5 T

=250tk

On a 2 km road, a total of 201 trees are

planted on the side of the road at equal

distance. How many such trees will be

planted on a 50 km road such that the

distance between two consecutive trees

is the same as that of the consecutive

trees on the 2 km road?

wEm : R R fR IR, R qEg @ AR

@ 2056 TH @od T @ 2 B AR

WCO1R ANH 4R @ o . vag 2 arem

TF @199 TS FOfB IF LTAEH TA?

A. 501 B. 5001 C.5000 D. 1000

/At (Tea: B):

2 km = 2x1000 meter = 2000 meter

50 km = 50x 1000 = 50000 meter

LR LR LR 1 LR LR} "

LR} LR}

2000
Distance between two trees= ﬁ' = 10 meter
50000

Trees in 50 km = 10
=5000+1 = 5001
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59.

60.

The angles of a triangle are in the
proportion of 1:2:3 and the length of the
smallest side is 1 cm. What is the length
of the longest side of the triangle?
e 93t fagrem feafd @ wmers 2@
DR 0 93 AT (BB AR Wy =l > AL
Srera fagred A 4T qed g o2
A.2cm B.3cm
C.4cm D.5cm
e (Bea: A):

301)

\3
2x ;

900 x=] ()O"
Angles=1:2:3

So angle = 30" : 60" : 90"
Angle=x:\ﬁx:2x

Length of longest side = 2x1=2 cm

Mr. X had Tk. 1000 in his savings
account. Every month in the first week
he needs money, so he withdraws Tk.
500, but by the end of the month, he
deposits TK. 750. After how many
months, the original amount will grow
three times?

wEm : fi. X @3 198 fZeTE Sooo B T |
afe W7 s AYMZ TR B Qe W, OIR
@1 oo BI@ TrgEw A faw WR < oF
A qeo DIF TN FCE | TS A ATA, S

B 3 toren fem wd zzar

A. 6 months B. 7 months
C. 8 months D. 9 months
e (Bea: C):

Initial money X had= Tk. 1000
Three times of initial money= 1000x3

= Tk. 3000
Money to be deposited = 3000-1000
= Tk. 2000
Each months his savings = 750-500
= Tk. 250

2000
Required months = 250 8 months

61.

62.

Two small circular parks of diameter 16
meter and 12 meter are to be replaced
by a bigger circular park. What would
be the radius of this new park, if the
new park has to occupy the same space
as the two small parks?

AW ;A (BB AGFR SATER G JATTH Y
fibr @22 3 fibm w3 were @3 Tg 3 T
dfegifre 22 | 1 2w 3o 2 38 qfba i
GRS WeE FA, S0 SR geida Afawe e

Q4?

A. 20 meter B. 15 meter
C. 10 meter D. 100 meter
e (Bea: C):

Here, r| = "—2(')' =8mandr, = _2‘: = 6m

Let the radius of the new park be R meter

Then, nR*=axr*+nr,?

= nR*=nx8%+nx6°

= tR>=100n

=R>=100 = R=10

A student obtained 60, 75 and 85 marks

respectively in 3 monthly examinations

in physics and 95 marks in the final

examination. The 3 monthly

examinations are of equal weightage

whereas the final examination is

weighted twice as much as monthly

examination. What is his average mark

in physics?

wAm ; qFee g e e few et qere

Yo, 9¢ 9 be TEN WE I GA FRAA

3w e TEA wEA ad | foq Wi AdrEm

©R AW @A FEAE AR o@ Wi

Aqrw oiem faed | or owid REa g T

FE?

A. 82 B. 85

C.79 D. 78.75

717 (B@a: A): Required mean
_60+75+85+95x2 410

5 5

=82
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63.

64.

At a stationary shop, it costs Tk. 185 for
4 gel-pens, 8 ball-point pens and 1
marker pen and Tk. 315 for 7 gel-pens,
15 ball-point pen and 1 marker pen.
What would be the cost of 1 gel-pen, 1
ball-point pen and 1 marker pen?

TRV 930 GOl (e 85 & TN,
v 7@ S e @3k o6 I TR AN sve
B @32 aft @ T4, 3¢fB 39 T FEw @R
s T TE A ode B 1 o S o
1w, > 7 AT w93 6 W e
Wi TS B2

A. Tk. 45 B. Tk. 55_
C. Tk. 60 D.TK. 70
Fy1Tt (Bea: B): Here,
4g+ 8B+ 1m= 185 (i)
Tg +15b+ 1M =315, (i)
From (ii) — (i), 3g + 7b =130

68+ 14D =260..c. oo (iii)

From, (i1) — (iii),

lg+1b+ 1m=315-260=55
The average of 10 numbers is 40.2.
Later is was found that two numbers
have been wrongly added. The first one
is 18 greater than the actual number
and the second number added is 13
instead of 33. Find the correct average —
AW ;WG AR TS WH 80.3 | ATes «ff
Teiffe 70 @ o 77 T @i 91 TR | 2
WM &Fe WA @F Sv @ 9 @SR
Hefba F@ 0o @3 ARATE S0 @ T T |

CIE AE AT WA TS FE?
A.40.2 B. 40.4
C.40.6 D. 40.8

Fygt (¥ea: B): Correct sum= (40.2 x 10—
18 +33-13) =404

404
~ Correct average = 10 = 404

65.

66.

67.

68.

In a certain population group, 57% of
the people have characteristics, X and
63% have characteristics Y. If every
person in the group has at least one of
the two characteristics, then what
percent of the people have both X and
Y?

AW @3 [WE S @t o ¢a%
@eER WA X aR vo% e @fE Y
witg | @R afels smereR I i arem
«fs 2afE AE, orTE Fo Aol @A X

G372 Y Toy 0af*ei3 =g
A. 20% B. 18%
C.12% D. 6%

1T (Tea: A): Here, 100 =57 —x +63
~x=120-100=20

.. People both have Characteristics X and

Y =20%

M is older than N but younger than O.

If m, n and o are the ages of M, N and O

respectively, then which of the following

is true?

Sam : M N (2t 3 8 O (90F @6 | m, n

93z 0 W Y@ M, N @32 O 93 315 T3,

wrzrA s @ f3fefs o zar

A.m<n<o B.n<m<o

C.o<n<m D.o<m<n

At (TS B): Here,n<m <o

What is the smallest number of apples

that can be distributed equally (without

cutting any apple) among 6, 10, 14 and

18 boys?

AW (] AT T Fhl TS b, do,

38 @R Sbr MAF IFAE T4 FEH TS WAF

SCAF A S5 04 T4 L] ?
A. 1260 B. 315
C. 360 D. 630
g (Tea: D):

LCM of 6, 10, 14 and 18 =630

A merchant has 1000 kg of sugar, part
of which he sells at 8% and the
remaining at 18% profit. He gains 14%
on the whole. Find the quantity of sugar
that he sold at 18% profit.
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69.

70.

AW QG A Sooo @G B Wi,
T2 @36 W (T v % T @3 AR TH So-%
TR @ @@ @b TA (o 38% TR
A | OZE 3 S gAER & sifawd b fTww
Frafea?
A. 400kg B. 560kg
C. 600kg D. 640kg
it (B@a: C): Let, at 8% profit he sold x
kg and at 18% profit he sold (1000—x) kg
ATQ, 108x + 118(1000 —x) = 114 x 100
Or, 10x = 4000

S X =400 kg
. 18% profit sold= 1000-400= 600 kg
If the numerator of a fraction is
increased by 2 and the denominator by
1 it becomes 1. Again, if the numerator
decreased by 4 and the denominator by
2 it becomes 1/2 . Find the fraction.

Sedam
A. 4/5 B. 5/6
C. 6/7 D.7/8

Fyt (Bea: D): Let, the fraction =§

From (i1) — (i)
2x—-y—x+y=6+1
Putting x=7 in (i) we get,
7-y=-1 sLy=8

e e S
Required fraction = y"8

The difference between the length and
breadth of a rectangle is 23 meter. If its
perimeter is 206 meter, then, its area is

AW Q3 SErEER i ¢ &rFa Adw 20
fabra | «a +ffafq 3w ov bR =, Sa @7
AT 7

71.

72.

A. 1520 sq meter  B. 2420 sq meter

C. 2480 sq meter D. 2520 sq meter

gt (B3 D): Let, length = x and breadth
=x-23

ATQ, 2(x + x—23) =206

- X =63 . breadth = 63 —23 =40

. Area = 63 x 40 = 2520

General Knowledge

Which country is cooperating to
implement “Bangladesh Delta Plan,
2100°°?

A. Belgium B. Netherlands

C. Denmark D. USA

g (BsA: B): weRy ofeda ¢ egfes
yrdirefre Jfea Fma sifers S A
BITES NI FAFE 8 (B, 05 G
wtafes «faama (NEC) som ‘q@ma= 3-2
Afaagal - oo’ AW G TZfaEEel e
A AIte | (O A AREEARITER ST
QAR AFfed T St b Tore
AT | 9% HAfTEEE (WY A AR doo A
QA @ ARTEF IVIAAC  AENHH IS
el WA WIREANS | N AMTH (0%0-
2090) AW 42 TATE 3,59,-39 @IS Bt | fadix
FMTHLAR W 003 (ATF weo YR T
AGCHCAT (AW 06> (ATF doo HF | 9FR
YAt e fers a@ ErerEns wfey ol
3 TG W TR | AR (N5 o6 25D
Rl

CoEr Y € WL | Teq ¢ Sl
S S e e
“f1&ey T 8 (UEA | AN G e
BOAY TeH | e TR e

Which of the following is the first
published Novel of Kazi Nazrul Islam?
A. Mukti B. Agnibeena

C. Badhon Hara  D. Jinge Ful

Eminent Publication 41



Eminent : Bangladesh Bank Recruitment Guide

73.

74.

T (e O):

TG TGeFe AN

T TEwEA R (e oft TAWE ZwEl-
4, Jorgdl ¢ FEEF | 9% TATAGTAR
Ty A4 Toar 99w e 7y | @ft FeE
RS 2T ATAIPAT | AT S |

A AIF- TIARAN CANDI (AE @GR @A
IFAY- JAAN |

229 2FIfae Fel- IE (doy T 2T 27) |

2o TS FHYZG- TAAN (S5 AE) |

oo gifere q5s- ffafaf |

gy oFIfH e ABAY- AR WA (DD AE
gFIe) |

‘Thalassemia’ is a hereditary disease

affecting —
A. Lungs B. Blood
C. Heart D. Kidney

gt (Bea: B): et 3 fEemers @i 1
oo Wy W aR @ IF @I
T oer e @@ <A 92 SREn
wrErefersra e Seom r o @ifze
7T (@rReE sfefre wfeaw o a7 T @i
FeHrel A Suifafi @ 1 we e s
A PAPA TS 9| (N A{ew Afaaz 49
GR AT T TIR-THZC Afqaza &4 |

For millions of years, which of the
following has not changed much due to
evolution?

A. Whale B. Shark

C. Hippopotamus D. Dinosaur

Fmnt (Bea: B): 7@€ (Evolution) 2@ @59
@36 G e 4@l T 4T (AF AETHEE
g Mo ¢ vifafae wafier awefadTe
[ T oAE R qa [REda s offed
rF Se A1 e 2w o oy A swrafy
fore =g kR fog 2ndia fomere Afaads 9z |
ataifezfe 3ot it s «f@ds fa sjfedrs
s fore <@ Az TR S,
TRTAPR eitafenfie gt arae Iguna offed
@ oraieffa fage 7@ g

75.

76.

77.

The Sveriges Riksbank Prize in
Economic Sciences has been introduced
in memory of —

A. Paul Samuelson B. Alfred Novel

C. Alfred Marshall D. JM Keynes

7 (TS B): WEHS (At T2e (reas
Y50d JAIA eRfEe T @A 4FFE | dpod A@A
Zre A [ @nEE gER @GR TS | 9l S,
midfamm, 2 TR, o, Afze, 8. et
fawm, ¢. e | wdfifen o e @neE =
T W 9 SgEmE @ AWE | RS
‘crefae fAEaE (TR @R FIF) 9@
SR SdYd AF (AT AAFE A A
wAiferee @ TFR 46 A T | 038 A
GRIfSTS FANIF ATHE A TR S,
B & e & @ 3 |

“All parties state language movement
committee” was formed on —

A. 18 February, 1952

B. 20 February, 1952

C. 2 February, 1952

D. 31 January, 1952

AT (B@A: D) : 3589 HAMEAA S GIHFA WLI2E
SE IO (TG SAfwm TG oG 6w |
S38Y HER G ST ‘AFera A wifaww’
AP T 358y AR @FRf WA fEwE
seoifaan faraia 2afem wmnsifa 89 srare
wfgraetaa sy oF A 9E AE A
] AERAIY We 99 2fSqm G | ddeo AME
AfeBTa eqmwa s @@ @E s,
THR NI TS Ol Z0E 1 dveR FAMED 0
sl e ageE A ofrww fie =3
@3 Jfqam 2y @FEfE, e (b FEA, doev
) @@ e q@eE A AFE
e o1 | 35eR AR ¥y @ wa-gdral
>88 4@l ©% I AFSE A H1F e s
fats a$um vl (Iferad vgR AMES TW @A
Ao @z ot off T FAE wRME AR,
wgE WS, AFE T, WA TR, efear
=feW T | d5e8 AME Aofdmd €2 ddey A
faa A Ay @

Which of the following agreement is
related to Intellectual Property?

A. TRIPS B. AGN

C. AGTC D. AGR

42

Eminent Publication



Eminent : Bangladesh Bank Recruitment Guide

78.

17t (B@A: A): TRIPS @3 5% 2l Trade
Related Aspects of Intellectual Property
Rights. «f5 zr#l World Trade Organization
(WTO) @3 swiwa g @y faws @3
pfE | @fs sv58 AE Arsfae = waz WTO @3
2fef MR @ §fea =€ @ 5o AGSES |
‘Double Fault’ is associated with which
of the following games?

A. Lawn Tennis  B. Football

C. Cricket D. Hockey

Fren (Bea: A): fafeq e e sifds fag
aFgey % fgmel-

Game Terminology

Free throw, Common foul,
Underhead, Technical foul,
Overhead

Basketball

Base
game,

Pinching, Homerun,
runner, Perfect
Throw, Strike, Put out

Baseball

Shuttlecock, Service court,
Fore-hand, Back Hand,
Smash, Hit, Drop,

Badminton

Knock out, Punch, Round,
Footwork, Bleeder, Brawler,
Buckle, Cross, Cutman,
Dive, Haymaker, Plodder,
Southpaw, Spar, Stablemate

Boxing

Pitch, Crease, Gloves, Spin,
Ashes, Bowled, Stump out,
Runout, Googley, No ball

Cricket

Gambit, resign, stalemate,
Grandmaster, international
master

Chess

Double fault,
Grandslam, Deuce, Game
Point, Breakpoint, Smash,
Shot, Break, Grass Court,
Drop shot, Netplay, Baseline

Service,

Tennis

Spikers, Booster, Deuce,
Smash, Sidearm, Penetration

Volleyball

A double fault is whenever a server in
tennis fails to get their first and second
serve inside the service box. When this
happens, the receiving player is
automatically awarded the point.

79.

80.

81.

COP-26 is related to —

A. Global trad & commerce

B. Global climate change

C. Poverty alleviation

D. Coproductive of COVID vaccine

1 (T B): tafys Tweel 3fa frged #14w
faefsm w1 @R #fata@ @%@ United Nations
Framework Convention on Climate
Change (UNFCCC) @2 Twimsl >sse A&
(AT 2ffed%a TIfeH Ty AT SIS TF |
@ft Conference of the Parties (COP) =1ts
Afafoe | @it e TRy Tiffs @B wrwEE |
sode A Sffaa qifefE 2w COP - 1 e
wfoe 23 | FEa @9 AR wifere fawael-

Ll e
COP 28 | @ wiea ifiere 2039
COP 29 | 3%, S&RAIZE 2038
COP 30 | 3ifem 03¢

The historic 7™ March Speech of
Bangabandhu was given at the Ramna
Race Course which is now —

A. Bahdur Shah Park B. Suhrawardy Udyan
C. Chandrima Udyan D. Hatirjheel Park
A (Bed: B): d5ad AMFE q W @@ ©:20
wfba g e Ifega amum @t Wi
(ISTM EiEAeTml Twi) TAfge & @ifam
o1 >» 5 a9F o @+ | @ SR e
femt 85 | 3l 3. verwm wfas w3 2R, 2
orma IR R @, o, Adxer eve
31, 8. fdifoe efeffaraa @z wwe e |
Who was the first governor of
Bangladesh Bank?

A. ANM Hamidullah

B. Md. Nurul Islam

C. Khorshed Alam

D. Shegufta Bakht Chowdhury

e (B8 A): @ AITdA A4E W iEs
W NS | AFA AN TSI (R
BIA IE AR TP AT IWHIAN v T |
EA JLFA ALY TSN fereAw @, @H. @93,
gz | o b Taifa 3543 (@TF Sb o7,
5598 e e wifrg At e |
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I AILFA Teama Sifere! fsznol- T @Ew: C): ofedn swe’ swerd
S, G.9H.ER, | e M3 IRTA [ b, T, AL A< fsee-
zifagae e Bl  —
3. 4 4 |v e gewd | so. ©  wifedw o
ifereefiom SrEmm | @z e Az AJIBCAZA #A13A SIAS-bI
©. a¥, WA | 4, © CIZEW | 55, werd e A eren 44-27a1%A
o AP G -AfifFEE
8, (IGWS| AYT | b, © WAFWIA | 53, WHA ACH IR o s
g STHH M— AR WA GIPAE | BIA-SES
SO, ST G2 T FHE
Which of the following ecosystem covers wifea / fofepe 13w | wsfifa-gm
the largest area of the earth’s surface? AR A2 Y- A
A. Desert Ecosystem AT #ZA e A - o faEm
B. Grassland Ecosystem g @z - 2R
C. Mountain Ecosystem R Mg e
D. Marine Ecosystem o =
et (B8R D): - Rww @ we e_' - il ¢
UG AR TS | A Wb T GG 85. Mllk. is poor source of — .
IR TS G 3% G GG AR 22 Nt D EEiein
C. Iron D. Calcuium

ZASl | TEred @R S G TS AR
sl | offedire <Al P e | SRS
GARPAE (IS (AT (BI6) NEaete fmsel- 3.
o8 WZPTNA, 3. WHAMSE TZHHE, 9. e
AZPA, 8. wlHd TEIR, ¢. T TR |

Which of the following is not the official

language of the United Nations
Organization?

A. Arabic B. Chinese

C. Portuguese D. Spanish

gt (B C): T@f swfrel s e

wifeweraa wielas s Fedn-
afedra wefrs o
el oft | ;W oy, wRE, 2
srgrarfarel eyl | 3EfE, o, v
(0OIC)

wifesza (UN)

Which countries are separated by Mac
Mohan Line?

A. India and Pakistan

B. China and Tibet

C. India and China

D. India nad Bangladesh

86.

e (Tea: C): yara orfbera aaf smd
31 S <47 91 23 | @lfe Yoo AT HY €. 20 A1
W, 0.3¢ AW o, 0.3 am wifiw, apa
Afawree febifaw (@, fa,, fa,, f,,, ), e o
@32 bbr. 0 AT A A | YL@ A I
FTBCOIG | Wred Sfseaa 7 @ | @ Hime o
WT4a A2 M T3 | ora, e e qrd srEee
Toifgfs ga @ |
AI=LfSF TR (S#TEE SR

When will Bangladesh exit from the
LDC category?

A. 2024 B. 2025

C. 2026 D. 2027

1t (Bew: C): @afef s @m o @@ Ta,
o1 faar ssifas @tz B (CDP: Committee
for Developement Policy) | @& &f® feq
eq 7 o7 wafeherer faafes yemmm a0 @)
ffifea  Jonfad e wifesigaa e
(ECOSOC : The Economic and Social
Council) T | foa %3 *@ @ wifesigaa A4
ST AT T 6T | A 0b
e wdaYs ffefom sae 6 o@d a2 | @l
203V ANA PEESIE G#AfeH (A @ Ta |
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87.

88.

Elizabeth II was the Queen of the
United Kingdom and other
Commonweatlh realms from the year—
A. 1952 B. 1962
C. 1955 D. 1945
gt (Bea: A):
1 fadin afereca
TGRS | D> G, 350 (TTEEE, )
b GTH%, 033 (IEARE
T | o, wvenre)
@ AN | A (R $Eend
Tafy | ferem afemae o< 35
v | fefeas
—— wFAlE, s»ex | AN TF6
R AET- R G, Sdeo A (2 I=d
) |
3 $H WA S¢ T AqENEl wifg
@ AT B |
o= a$T e
TEW A ;| Cofy: e | Breze weie
AT TR | SRS | | v G5,
BT | 02 |

What is the literacy rate of Bangladesh
as per the first Digital Population and

Housing Census, 2022?

A. 74.66% B. 73.65%
C. 75.66% D. 66.74%
[T (Tea: A):

TV TSR 8 9% A9 - 033
AT 5S¢ GA-3d TH, 03
G SY,@3,@b, 05 T
A ¢ % TATS 00 : Bbr.094
TR TG 3355 &
EERSIERERE 5.53%

HAFTOR T 8.9 %

TG F-CTBIA T We  HORAR 3%
(3RS : BIF)

aft fefadm wmfers w1 w1 27 93z wEwifre

AR EF TZE 72l T |

e ANF 038 TEEAI AMFISR 2R
99.5% |

89.

90.

91.

Who is the person of the year of Time
magazine in 2021?

A. Biz Stone B. Mark Zuckerberg

C. Bill Gates D. Elon Musk

AN (8ea: D): Time W& Person of
the Year 2021 famwa et st =@ Elon
Musk €7 919 | Time Magazine-4 &« %
e Fel TR, SpaceX @3z Tesla-a CEO
Elon Musk @« «aew Ife T @ oz 79
PR GO A TR W | A Tesla-d
wife®ta o of¥dt @32 Electric M wifasm
frn =R ofie @& @@ TR S, BN
wpofifed Person of the Year 2024 fa@a
frdifoe zraTes Temms G |

Which country lost to Bangladesh in the
SAFF Women’s Football Final 2022?
A. India B. Sri Lanka
C. Nepal D. Maldives
[ (Bea: C):
S JA STFTA : 038
e 28 39-0o TERE, 2038
Hoifes o AT
BrifeeEs I, AT A @A
ez we | aff
7[5 W75 N
TR (RCATATS Aewiof] BRI ()
Gl HEfEaE | @A S (QeEe)
T CoAfETTST TAf® AE™

Basic Computer Skill
Phishing Attack is related to —
A. False Website B. False E-mail
C. Piratted Software D. Faulty Network
[ (Bea: B): ffiz seice gemdam wams
FIE I (AF AETS O @AIH- IRLFFRIA
N @ ARG, (o IMET U Tojfv 7wz
FAME JAR | T-(NZA ¢ THGIFG WS T4
RS B T 70 | A TW A MR ©L
PR frems 3wt @ Z-apdfac EberE
e 798 TR AT |
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92.

93.

Which one is Utility Software?

A. MS Word B. Win-Zip

C. Firefox D. Facebook

g (Tew: B): TEE@ (&AitNd SWIeSR
by fem @z e feg 2WHAD  ciam
A A | ety e ffen @b
*AFEEAY G O] AL, SIZAP 59 ¥4I, foF
5% Tenfa @@ @ @i 3SHED @
g ¥4 @ fag swged FEMHEAD e

fmael-

Anti-virus ScanDisk | Disk
defragmenter

Compression | Win-Zip | Drive
converter

WinZip is a trialware file archiver and
compressor for Microsoft Windows,
macOS, i0S and Android. It is developed
by WinZip Computing, which is owned by
Corel Corporation. The program can
create archives in Zip file format, unpack
some other archive file formats and it also
has various tools for system integration.

Which one is considered as the brain of
a computer?

A. Memory B. Processor

C. Hard disk D. Internet

Fynt (Bea: B): CPU (Central Processing
Unit) & W& Ffeora wfes a1 @3 2=
%W | CPU Tl Ff(Eh1aa 4 wieel, Tl v
3 WRrEArEE T Hfafoe | b afEbram
T FIHE fge a3 | CPU @ fememst s
Fq @ 3U-  Arithmetic Logic Unit,
Control Unit, Register Memory. @y,
Transistor i IC sfa = @3 IC fim
Microprocessor 08 ¥ | WELEHLTEE A
ffeataa tofd wa et fewaas=iz (VLSI :
Very Large Scale Integration) 54
Processor 257 (hz) 93 “ifawe] a1 23 |

94.

95:

96.

Which of the following file name is
valid?

A.BB _AD 2022 B.BB AD*2022
C.BB_AD?2022 D.BB_AD/2022

A (Bea: A): @S Bi2a @ @A (\, /, o,
* > <) fomera (Character) 9% 20 71 | @3
fopera aaz@ FAE FRER W AR
Afqafée zra 711 qoa wom A B g A
FIZE T |

Which one is the
Programming language?
A. MS Power Point B. MS Windows 10
C. Python D. MYSQL

A (B@a: C): T @@ S NEEa @igersy
% QA2 ] 4LA A LA ACE | @A 9
faan wiwan 3wafE o @Snd 93 @R A
fata a1 =fa Twwraa cennfie « ¢ g e
OR GIR O QA I T A | T
oG Ol Al TH FEA Ol | FEHO TH
aa o fawgal-

High-Level

Python FORTAN ALGOL
PL/1 Logo APL
BASIC Pascal C
LISP COBOL Java
PROLOG FORTH C++

Which device is mainly related to
provide security of a network?

A. Router B. Firewall

C. Operating System D. Switch

Ayt (Bea: B): Firewall 201 @& qarea far<a
frareral a@g AW @ EBOUE (WF  GEE
@Deund (Th @Az fTrEd I | (O eRNE
T Gft (OBl 3w I (T @ @A 63 AW
enE wgfe wite a1, d@E ot @rs
@ | AMTOA LA ICA FOGAE A
7| (2B (2 @0SAEE ATHIA AL AYS
FA AC A O GAE TG (Sl T | F2Z DA
Sromafere 2@ @@ sraebie feeds e
e T PRE @ffe Heare azd s@e 49
B1esfB T oo |
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97.

98.

99.

Which one is the Strongest Password?
A. Amin 1234

B. $4Rr#345we#Jan21$

C. SAminur_Rahman$

D. #Abdulla#BB#Dhaka#

[yt (Beq: B): W ARIEAE SIS TS (@4
o Afd T W, R APeuE T @
el 2 | Toafe SemetEa Ty S B
(s SR @ oErR A wwore wE @R
AT e AT ears |

Which
necessary to access online banking from
a plane or ship?

A. WiFi B. Optical Fiber

C. Satellite D. Radio Link

gt (Te3: C): WiFi (Wireless Fidelity)
A SN @ @ o4YfE, T @fes ena
TR @ G W2 AR W THREG G|l
M I | MO e Flaw Tz, DI
ggfen 71, R | W Tolaz Afedice 28 Wl
R o] Sfeers ¥ | GG 9T @35 Flem
Tolalz QIS 3F1, @36 BEASTER T4
@fes ¢ Gfaftfam Fommes Janemd ¢
=ferl wdie +feda Rfeq g s=fgs @ws ¢
AT GO Wy @36 ST wrtee tefa
A | RS e, Tores, Bfe s
FRIBE @ AIHEIZ0 T4%S T | WA= FEIR
zE 3 (Pl a1 afts faea tefa e o2
wYs AN FZAE | @ @qme THEED 4R
eB1 G Fite qege W @fvs A
P A9E 93t Gy @fSe @ @5<E
[ WG NZF TS [ Fa [{feq aara
B0 ALANN WSS W] 2 |

One Tera Byte equal to how many
bytes?

A. 10° Bytes
C. 10’ Bytes

communication media is

B. 10° Bytes
D. 10" Bytes

et (BA: D): @fad qr@acrwe gl

1 %5 (Byte) 8 35 (Bit) - -
| f7@=1 (Nibble) a1 | 4 fa& (Bit)
ug 2125
| Rrena®s (KB) | 1024a®5 | 20 10°
Y Ry
| TA=RS (MB) 1024 22 10°
izt REY BIEY
| Fiemr2s (GB) 1024 2] 10°
AR BIEY RiEY
1 75arES (TB) 1024 2% 10"
[RRISIES RIEY Az
| f5rTES (PB) 1024 2% 10
WEIEY RiEY) RIEY
| @3BrIES (EB) 1024 260 10"
forbrarzs RIEY) Az
1 t&8raED (ZB) 1024 25 10%
QHOARD LIy azo
1 ZraidrEEs (YB) 1024 5l 10%#
(s e R aAze
100. Bluetooth technology uses —
A. Infrared B. Microwave
C. Radio wave D. laser Light
T (e C):
v 359 TR SRREE e afm
@5 eqF (PAN) etora a1 @fee
SR IR FE B GACY (SO
M- 34 |
v 43 GEG RIS 3 (AF doo WO
R A= |

v 3-39 afETe TN wASHAY (@O
% (Radio Wave) I59g€ <4l
ET

v oys8e A «fied @3 agfea
SEE FE QR AN <o
(G A AT B
TACE AT FEA |

v yere: EEE 802.15
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